434F

www.konkur.in

R

R

R

o] R B o

] &

]

8

Ya4/4/Y

PAY
N~

Ol el g sstanr
£19U8 3 DlEEsT (pgle aylg

st higel Lheia gl

ﬁ_d}:.vgn C}La1 L P .)5..:.1 C'}La] alFiils J.‘fl»

loy) Paes plol

! JLH.I_ ‘J.;L: Lme ..L&;lwml.i.&)'lf l_sl.ha)_g.:l S99 Uﬂ‘“JT

(10+F) 0 o Sl juold  owlidicadly

dids Ve u.-'BS‘E'“'L?, et

LA [ PRI R

e ——
LW las & yless g o o loeie] Slee ylgie

elos U | 3jkes 31 | Jlaew olawi kil Slae TN
Y- | T ((pdSil) pmuadei g ogas nlj | Y
& A ¥ eolid i T
he &4 T ol owrliniadly Y
Vi At Y. obardl alibiedl ¥
1 LY Y. Lewlbicdialdls &

1 Al s geil !

SRR TR WE W P | T- ]

Apige U85Sl pho 3 il B g ilign done (il o codl e b Tl iR g il aobad el o) 0 6ca90 3T S0 0 31 Lt (e 50y P TT) g g 38 20 ST S g oS5 il 3>

&

X

i

R

&

R

4

R BAAIRR

R

R

R B

R

R

X

forum.konkur.in



www.konkur.in

Y axio 434F (1D F 08 S mols cwlidbodly

]| ;_jj-“)T &M.J.a- 3 Loods 148 sl aJJ.ﬁndJ .J.ld Js..l_‘.r i_ll.‘:-)m 39 Lal 3 lhasxin T pas s'.;h])-f u_a.lbslé -]

1y 895 Juduo 8 kouds ydge sl bolS BT L e PURL T 2 S PR — sl
T JpsS A5 g foi (oW lgew Az 80 g dolizeuwl oYl dude & 3559 & yl5 YL o gyaie dbgls 5yl L
el s U 1) pleligouly (ply 3 W15 B 580 (59, p 0t

HglBH) a5 (090t 50

PART A: Vocabulary

Directions: Choose the word or the phirase (1), (2), (3), or (4) that best completes cach sentence.
Then mark the answer on your auswer sheet,

1- It had not rained on the prairie for several months. Because of the drought, the climate
had become very ---------- s
1) unsteady 2) rigid 3) intense 4) arid

2-  Deserted for six months, the property began to look more like a jungle and less like a
residence—weed grew -------—-- in the front vard.
1) unchecked 2) unjustified 3) complicated 4) scanty

3- Can you please --——-—---—- this last part of the lesson for me; I’m not sure I understood.
1) recapitulate 2) identity 3) postulate 4) recount

4-  Gerry’s dissatisfaction with our work was --—--——--- in his expression, although he never
criticized us dircetly,
1) vulncrable 2) bright 3) implicit 4) humble

5 The world’s coal, oil and gas -----—---- arc finite; onc day they will run out, so think now
about what you can do to consume less,
1) appliances 2) deposils 3) rclics 4) amcnitics

6-  You arc recommended o use mnemonics to help you ----omoo-- important items of
information.
1) cnumcraie 2) cxpose 3) recall 4) withdraw

7-  The lifcspan of a mayfly is ---------- » lasting from a few hours to a couple of days.
1) imprecise 2) ephemeral 3) superlicial 4) swill

8-  His words to the press were deliberately -----------—-; he didn’t deny the reports but
n¢ither did he confirm them,
1) mutual 2) cssential 3) dogmalic 4) cquivocal

%-  Hundreds of people had come to see a popular satire, but during the performance a fire
started in the theater, and the audience and actors had to -———---- the building
immediately.
1) expel 2) cvacuale 3) disperse 4) detach

13- Computers have helped solve some of the mathematical --—-----—- which have puzzled
man for many centuries.
1) conundrums 2) caprices 3) artilacts 4) chronologics

forum.konkur.in



www.konkur.in

¥ oaseio 434K (1D F 08 S mols cwlidbodly

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

When Newton arrived at Cambridge. the Scientific Revolution of the 17th century was
alrcady in [ull force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) ---------- refined by Galileo  was well
known in most European academic circles.

’hilosopher René Descartes had begun to formulate a new concept of nature

{(12) -=mmmmm-- an intricate, impersonal and inert machine. (13} ---------- . like most
universities in Europe, Cambridge was steeped (14) ---------- Aristotelian philosophy
and a view of nature resting on a geocentric view of the universe, {15) ---------- with

nature in qualitative rather than quantitative terms.

11- 1) and was later 2) and later 3) later was 4) which was later
12- 1) like 2) such as 3)as 4) the samc

13- 1) Although 2) As though 3) Because 4y Yel

14- 1)in 2) lor 3) with 4)of

15- 1) dealt 2) dealing 3) by dealing 4) and was dealt

PART C: Reading Comprehension

Directions: Read the following three passages and answer the guestions by choosing the hest
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

'The proximal tubule normally reabsorbs about eighty-five percent of the water and
salts in the glomerular filtrate and one hundred percent of filtered glucose. amino
acids, peptides. and low molecular weight proteins. Solute and water uptake are driven
by the lumen-to-blood sodium gradient created by active sodium transport across the
basolateral plasma membrane. The extensive apical plasma membrane surface area
created by the brush border contains numerous specific transport proteins that couple
sodium uptake with other transport processes. Water reabsorption follows the chemical
eradient created by active sodium reabsorption; aquaporins allow water to pass
through the hyvdrophobic lipid membrane. Thus, although the majority of filtered water
and solute is reabsorbed in the proximal tubule, the tubule fluid that passes to the thin
deseending limb is essentially isotonic. Low molecular weight proteins are taken up
[rom the lumen by receptor-medialed endocylosis into cndoceytic vesicles and arc
mclabolized in endosomes and Ivsosomes.

16- All of the following chemicals are completely reabsorbed by proximal tubule EXCEPT

Iy amino acids 2) peptides 3) salts 4) glucose
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17- Where is the main location of the speeific transport proteins?
1) Apical plasma membrane of distal tubule
2) The spaces between two tubules
3) [ateral surfaces of proximal tubule
4) Apical plasma membrane of proximal tubule

18- All of the following statements about the reabsorption processes of materials are true
EXCEPT ——---—--——--- :
1) the chemical gradient results in active sodium reabsorption.
2) active sodium reabsorption is carried out.
3) water passes through the lipid membrane.
4y low molecular weight proteins can be reabsorbed.
19- Into which structure does the filtered isotonic fluid from the proximal tubule enter?
1) Distal tubule 2) The thin descending limb
3) The thin ascending limb 4y The thick descending limb
20-  Which item is proeessed and metabolized through endocytosis?
1) Filtered glucosc 2) Proteins with low molecular weight
3) Peptides and amino acids 4) Filtered waler and solule
PASSAGE 2:

l‘or a contraction to occur there must first be a stimulation of the muscle in the form of
an impulse or action potential from a motor neuron. The individual motor neuron. plus
the muscle fibers it stimulates, is called a motor unit. I'he motor end plate or the
neuromuscular junction is the junction of the motor neurons axon and the muscle
fibers. When an impulse reaches the muscle fibers of a motor unit, it stimulates a
reaction in each sarcomere between the actin and myosin tfilaments. This reaction
resulis In the start ol a contraction and the sliding (ilament theory. The reaction,
created [rom the arrival of an impulse stimulaies the 'heads' on the myosin llament o
rcach forward. attach to the actin filament and pull actin towards the center ol the
sarcomere, This process occurs simultancously in all sarcomeres, the end process ol
which is the contraction of all sarcomeres, Troponin is a complex of three proteing that
are integral to muscle contraction. ‘Iroponin is attached to the protein tropomyosin
within the actin filaments. When the muscle is relaxed tropomyosin blocks the
attachment sites for the mvosin cross bridges (heads), thus preventing contraction.

21- In the first paragraph, the word “it”, in the phrase, “...the muscle fibers it stimulates,”

refers to -—--——-—-—-,
1) motor neuron 2) muscle fibers
3) action potential 4y motor unit

22-  What is the proper sequence of the actions during a muscle contraction?
1) impulses of a motor unit, pulling actin inside the sarcomere, and attachment to the
myosin
2) stimulation of each sarcomere, inpulses of a motor unit, and contraction of a muscle
3) impulscs ol a motor unit, stimulation ol actin, and atiachment to the myosin
4) stimulation ol myosin, myosin’s attaching to the actin, and actin pulled inside the
SArCOIICIC
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23-

24-

26-

27-

28-

What is the final process of the sliding filament theory?

1) Shoriening of all sarcomeres

2) Contraction ol the actin filaments

3) Contraction of the myosin filaments

4) Shortening of the centre of a sarcomere

According to the passage, which statement is true?

1) In a relaxed muscle, troponin prevents actin attachment to the myosin.
2) T'roponin and tropomyosin are proteins found in the myosin filaments.
3) I'ropomyosin causes a change in troponin protein.

4) Tropomyosin and troponin are proteins found in the actin filaments.
Which of the following titles best suits this passage?

1) Myofilaments of Actin and Myosin 2) Sliding Filament Theory
3) Characteristics ol Muscle Fibers 4) Sarcomeres in Muscles
PASSAGE 3:

The autonomic nervous system consists ol two components, cholinergic, mostly
parasympathetic and adrenergic, mostly sympathetic nerves. TTowever, a  third
component of the autonomic system, which is neither chelinergic nor adrenergic. but
the peptidergic svstem, has been recognized within the alimentary canal.

‘The anterior and posterior wvagal trunks and their branches form the
parasympathetic nerve supply to the stomach. ‘The anterior vagus is derived mainly
from the left vagus nerve but also includes fibers from the right vagus and also some
svimpathetic fibers from the splanchnic nerves. The anterior vagus is almost entirely
derived from the coeliac plexus. The gastric branches of the coeliac plexus accompany
the vesscls supplying the stomach; the Iell gastric, hepatic and phrenic arterices. Fibers
{rom the cocliac plexus accompany the lefl inlerior phrenic artery, pass anterior o the
lower esophagus and communicate with the anterior vagus belore being disiributed (o
the cardia and fornix.

In which of the following locations is there a well-developed peptidergic system?

Iy Sympathetic nerves 2) Digestive tract

3) Endocrine system 4) Nervous svstem
Which structure indicates the principal origin of the anterior vagus?
1) Left vagus nerve 2) Sympathetic fibers
3) Right vagus nerve 4) Splanchnic nerves

Which of the following vessels is NO'I' among the gastric branches of the coeliac plexus?
1) [eft gastric artery

2) Hepatic and phrenic arteries

3) Left gastric, hepatic and phrenic veins

4) Phrenic and left gastric arteries

All of the following structures are finally distributed to the heart EXCEPT ---—------—---,
1) left inferior phrenic artery 2) coeliac plexus

3) leli supcerior phrenic artery 4) anicrior vagus

Which onc of the suggested titles best suits this passage?

1) Autonomic Nervous Syslem 2) Sympathcetic Nerves

3) Parasympathcetic Nerves 4) The Peptidergic System
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